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#include <stdio.h>
#include <stdlib.h>
#include <math.h>
#define N 4 /* NIRIEFATH] */
void input matrix(double a[N] [N],char c,FILE* fin, FILE* fout);
void input_ vector (double b[N],char c,FILE* fin,FILE* fout);
void lu decomp (double a[N] [N],int p[N]);
Void lu_solve (double a[N][N],double b[N],int p[N]);
int main (void) {
FILE *fin, *fout;
double a[N] [N], b[N];
int I, p[N]; /* p[0.N-2]1%ZF|fH, pIN-1]1IIFRMEH */
if ((fin=fopen ("input lu.dat","r"))==NULL) exit(1);
if ((fout=fopen ("output lu.dat","w"))==NULL) exit(l);
input matrix(a,’A’,fin,fout); input vector(b,’b’,fin, fout);
lu decomp(a,p); lu_solve(a,b,p);
fprintf (fout, "Ax=bDEIIRDEY TT¥n");
for (i=0;i<N;i++) { fprintf (fout,"%£f¥n" ,b[i]) ;}
fclose(fin); fclose(fout);

return O;



LU :lu decomp()

void lu_decomp (double a[N] [N],int p[N]) {
int i,j,k,1ip;
double alpha, tmp;
double amax, eps=pow(2.0,-50.0); /* eps=2~{-50}¢&T 5 */
for (k=0;k<N-1;k++) {
amax=fabs (a[k] [k]) ; ip=k; /* ERYFDRBIR */
for (i=k+1;i<N;i++) {
if (fabs(a[i] [k]) >amax) {
amax=fabs (a[i] [k]); ip=i;
}
}
if (amax<eps) { /* IERIMEDHIE */
printf ("AALEATHIIERTIEGELN 1¥n") ; exit (1) ;
}
plk]=ip;
if (ip!'=k) {
for (j=k;j<N; j++) {
tmp=a[k] [j]; alk][jl=alip][]j]; alip]l[Jj]=tmp;
}
}
for (i=k+1;i<N;i++){ /* BIfEEE */
alpha=a[i] [k]/a[k] [k];
a[i] [k]=alpha;
for (j=k+1;j<N; j++) {
af[i][jl=al[i][j]l-alpha*a[k] []]~
}



LU : lu solve()

void lu solve(double a[N] [N],double b[N],int p[N]) {
int i,j,k;
double tmp;

for (k=0;k<N-1;k++) {
tmp=b[k]; b[k]=b[p[k]l]; blp[k]]l=tmp; /*HADITEHL~*/
for (i=k+1;i<N;i++){ /* BIERA */
b[i]=b[i]-a[i] [k]*b[k]’
}
}

b[N-1]=b[N-1]/a[N-1] [N-1];
for (k=N-2;k>=0;k--){ /* #BRA */
tmp=Db [k] ;
for (j=k+1;3j<N; j++) {
tmp=tmp-al[k] [J]1*b[]]’
}
b[k]l=tmp/a[k] [k];
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